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2007-08 District Competition

Match #11


These questions are for use in the Virginia High School League’s Scholastic Bowl District competition. Shawn Pickrell, Jason Mueller, and Dan Goff are the authors of these questions; further editing was done by Adam Fine and Marian Suter.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL District champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your District’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
Royal Air Force pilot Fred Shaw reported that he saw a small one-engine plane spiral out of control and crash into the water. Nazi propaganda, on the other hand, claimed he died in a Paris brothel. RCA awarded the first gold record to him in 1942 for “Chattanooga Choo Choo.” What bandleader, best known for “In the Mood,” disappeared on December 15, 1944, while flying over the English Channel?

ANSWER: Glenn Miller
2.
Its author considers it a collection of sixteen short stories, narrated from the point of view of three mothers and four daughters. Several husbands are portrayed as jerks, including Harold St. Clair and Ted Jordan. Suyuan Woo died before the work’s opening, so her daughter Jing-mei or ‘June’ pulls double duty in story telling. Periodic mahjong games are played in what novel by Amy Tan?

ANSWER: The Joy-Luck Club
3.
THIS IS A COMPUTATION QUESTION. Where are the minor intercepts of the ellipse x squared over 49 plus y squared over 25 equals 1 given that the ellipse x squared over a squared plus y squared over b squared equals 1 has minor intercepts at (0, b) and (0, -b)?

ANSWER: (0, 5) and (0, -5)
4.
His works include The Formation of Vegetable Mould Through the Action of Worms and The Power of Movement in Plants. His cousin Francis Galton applied his concept to human society, creating the theory of eugenics. After writing an account of his five years on the Beagle, who became better known for his seminal work on evolution, On the Origin of Species? 

ANSWER: Charles Darwin
5.
Two of them existed during the Great Western Schism. Today, several exist, but none have more than a thousand or so followers; one, Michael, lives in rural Kansas. Novatian was the first person universally regarded with this title, and no one is sure whether the title applies to Sylvester III, Gregory VI, and Clement II. What ‘title’ is given to rival claimants to an elected Bishop of Rome?

ANSWER: antipope(s)

6.
Its scientific name is Megaptera novaeangliae (may-gap-teh-ruh noh-vye-an-glee-eye) and an adult one can be forty to fifty feet long.  A pair named Delta and Dawn got lost in the Sacramento River in May 2007.  Name this type of whale, known for its complex song, that featured prominently in the fourth Star Trek film.
ANSWER: humpback whale (prompt on ‘whale’)
7.
In December 1982, Jeffrey Yee allegedly scored over 6 million points, meaning he had beaten the 256th or “Split-Screen” level. More cowbell could not cure the fever Buckner and Garcia had for it in 1982. Galaxian flagships, bells, and keys are considered fruit. After the 17th maze, eating an energizer does not make vulnerable Inky, Blinky, Pinky, and Clyde. Eating all the on-screen dots is the goal of what video game? 

ANSWER: Pac-Man (DO NOT accept ‘Ms. Pac-Man’) 

8.
In 1940, he was fired from City College of New York due to the views in his Marriage and Morality and Why I Am Not a Christian. His use of the analogy of a ‘celestial teapot’ was used to defend his lack of faith. What author of A History of Western Philosophy worked with Alfred North Whitehead to write the Principia Mathematica?

ANSWER: Bertrand Russell
9.
This part of speech can be “stranded” in questions, in some passive voice sentences, and in relative clauses; some grammarians have frowned on that. The sentences “Where are we going to?” “This floor has been walked on” and “This is the girl I told you about” all feature what part of speech without an object?

ANSWER: preposition(s)

10.
It started after the small-scale ‘cohee’ were taxed at a 50% higher rate than their larger counterparts. A shadowy figure known as ‘Tom the Tinker’ was its figurative leader. Other than James Madison leading troops during the War of 1812, it is the only time a President has commanded troops in the field. What was this rebellion in western Pennsylvania fought in 1794 over an excise tax on liquor? 

ANSWER: Whiskey Rebellion

11.
22 of the world’s 32 largest cities, including New York City and Washington, DC, are located on these unique water features. They often feature various levels of stratification based on salinity. They are often created by glacial cuts or flooded river valleys, and can be seen in places like the Mississippi Delta.  Like the Chesapeake Bay, what are these bodies of water where saltwater meets freshwater?

ANSWER: estuary
12.
A competing sonnet was written by Horace Smith, which wondered what London’s equivalent of the ‘gigantic Leg’ would be. It was inspired by the British Museum’s acquisition of a statue of Ramses II. Its title figure, now long-dead, commands the viewer to ‘Look on my works, ye mighty, and despair!’ What short poem by Percy Shelley is about ‘two vast and trunkless legs of stone’ that ‘stand in the desert’?

ANSWER: ‘Ozymandias’
13.
The Community of Christ uses a slightly different version. Two Official Declarations, one of which allowed Blacks to enter the priesthood in 1978, are located near the end of its 138 sections. Section 132 is perhaps the most controversial, as it encourages men to take multiple wives. What holy work of the Latter-Day Saints church is abbreviated the ‘D & C’?

ANSWER: Doctrine and Covenants
14.
In 1991, he was diagnosed with Graves’ disease, and so were his dog Millie and his wife. He also held up a bag of cocaine on national television but did not get arrested. He later declared that he would no longer eat any more broccoli. In 1999, the CIA renamed its headquarters after him, as he was director between 1976 and 1977. What Vice-President under Ronald Reagan was President between 1989 and 1993? 

ANSWER: George Herbert Walker Bush (accept Bush 41, Bush the father, or clear-knowledge equivalents, prompt on “George Bush”)

15.
Its disorders include Sheehan syndrome and acromegaly (ah-kroh-meh-gah-lee).  Also known as the hypophysis (high-poh-feye-sis), its functions include controlling blood pressure, breast milk production, and growth.  It produces oxytocin, prolactin, leutinizing (loo-tin-eye-zing) hormone, antidiuretic hormone, growth hormone, and other hormones.  Located at the base of the brain is what ‘master gland’? 
ANSWER: pituitary gland

Second period, 10 directed questions per team, 10 points each
Set A questions have an ‘A’ after their number; set B questions have a ‘B.’ 

1A.
The marriage of Holgrave and Phoebe Pyncheon brings a close to what novel by Nathaniel Hawthorne? 

ANSWER: The House of the Seven Gables
1B.
THIS IS A COMPUTATION QUESTION. What is the prime factorization of 182?

ANSWER: 2, 7, 13
2A.
What US naval base in the Caribbean has been used since 2003 for the detention of at least 558 ‘enemy combatants?’

ANSWER: Guantanamo Bay (or Gitmo) Naval Base or Camp X-Ray
2B.
TWO ANSWERS REQUIRED. Bobby Franks was brutally murdered, but Clarence Darrow was able to get a life sentence for what two murderers in 1924?

ANSWER: Nathan Leopold & Richard Loeb
3A.
The bicuspid valve and tricuspid valve are parts of what organ?

ANSWER: heart
3B.
What Dancing with the Stars runner-up and former member of N'Sync is now the host of NBC's The Singing Bee?

ANSWER: Joey Fatone (fah-tone)
4A.
A $15 million price for the Mexican Cession was the main term of what treaty that ended the Mexican War?

ANSWER: Treaty of Guadalupe Hidalgo
4B.
What isotope is commonly used for determining the age of fossils and other life back to approximately 60,000 years?

ANSWER: Carbon-14 (prompt on ‘carbon’)
5A.
THIS IS A COMPUTATION QUESTION. What is the value of 20 factorial divided by 17 factorial?

ANSWER: 6840
5B.
What word is a point inserted in a computer program to debug it, a verb meaning ‘to smash violently,’ or a small respite taken during work? 

ANSWER: break(s)

6A.
Nefertiti was the chief wife of what pharaoh that sought to change Egyptian religion to monotheism?

ANSWER: Ikhnaton or Akhenaten or Amenhotep IV
6B.
What is the molecular mass of cyanide, an anion with formula CN?

ANSWER: 26
7A.
What flavor of sub-atomic quark is the heaviest, but was the last to be discovered?
ANSWER: top
7B.
If a Spanish speaker refers to un caballo (oon kah-bah-yoh), to what animal is he or she referring?

ANSWER: a horse
8A.
Mike Teavee and Augustus Gloop are supporting characters in what novel by Roald Dahl?

ANSWER: Charlie and the Chocolate Factory
8B.
THIS IS A COMPUTATION QUESTION. What is i to the 382nd power?

ANSWER: -1
9A.
The line, “Wait a minute, you ain’t heard nothin’ yet,” comes to us from what 1927 Al Jolson movie that really wasn’t the first “talkie”? 

ANSWER: The Jazz Singer (it was, however, the first profitable “talkie,” as opposed to experimenting.)

9B.
What ibis-headed Egyptian god was in charge of magic and writing? 

ANSWER: Thoth
10A.
THIS IS A COMPUTATION QUESTION. What is the altitude of an equilateral triangle with side length 12 meters?

ANSWER: 6 square root of 3 meters
10B.
Anti-Scottish sentiments were included in a short-lived fourth verse to what song, the national anthem of the United Kingdom?

ANSWER: God Save the King (or God Save the Queen)

Third period, 15 toss-ups, 10 points each

1.
In much of the English-speaking world, they are called indictable (in-deye-tuh-bul) offenses. In Virginia, there are six classes, although the death penalty can only apply to a class 1, but voting rights are removed upon conviction. In the 18th century, they were any crime for which the punishment included death or property forfeiture. Worse than an infraction and a misdemeanor, and including murder and rape, is what most serious class of crimes? 
ANSWER: felony
2.
This five-letter word refers to a bud or new growth on a plant. In athletic events, it refers to an act of propelling the ball towards the goal. It can mean to inject a hypodermic needle, or to record something on film. When used with the phrase ‘from the hip,’ it means to act without forethought. What word is most often used in reference to projecting a missile from a weapon, such as a bow or a gun?  

ANSWER: shoot
3.
This Caribbean nation is third-highest, in the Western Hemisphere, in the UN’s Human Development Index. The Grenadines and Saint Lucia are off to the west, Grenada is off to the south-west, and Trinidad and Tobago are off to the south. Its residents call themselves Bajans (bah-junz) and it has a flag that is blue and yellow with a trident in the middle. What country, whose capital is Bridgetown, is the home of Rihanna? 
ANSWER: Barbados (if the rules allowed for a neg ten for Cuba after the first sentence, I would provide it.) 

4.
Since 2005, he has led campaigns against threats including Lutherans, the Toronto Raptors, and bears. He has declared bowtie pasta and owls, among other things, as ‘dead to him.’ Merriam-Webster's 2006 Word of the Year was coined on his show.  That word, ‘truthiness,’ was coined by what host of a spinoff of Comedy Central's The Daily Show?

ANSWER: Stephen Colbert
5.
This xanthine alkaloid compound is also known as guaranine (gwah-rah-neen) or mateine (mah-tay-ene).  It can act as a natural pesticide against insects.  Name this stimulant that is the world’s most widely consumed psychoactive substance and is found in cocoa and especially coffee.

ANSWER: caffeine
6.
The 1955 ‘double die’ and the 1909 ‘VDB’ examples are prized by collectors. An attempt to make ones out of aluminum failed in 1974, and its composition was switched to zinc in 1982. It shrunk in size in 1856, with the ‘Flying Eagle’ and ‘Indian Head’ designs preceding the one we use today. What United States coin had wheat ears on the back between 1909 and 1959, and today has on the back the Lincoln Memorial?

ANSWER: penny or cent
7.
Its upside down version is the 161st character in extended ASCII (as-kee), and it itself is the 33rd character. In UNIX shell and Perl scripting, it is used after the pound symbol to tell the operating system to run the script. In FORTRAN it provides the inline comments.  Name this character used mostly in computer science to mean ‘not’ in logical notation.

ANSWER: ! or Exclamation point (accept bang)
8.
His posthumous novel Maurice was a coming of age story about a gay teenager, and The Life to Come was a posthumous short story collection. After 1924, he wrote no more novels, but wrote the libretto for Benjamin Britten’s opera Billy Budd. Early novels include Where Angels Fear to Tread, A Room with a View, and Howards End. Dr. Aziz and Adela Quested are in what writer’s last novel, A Passage to India? 

ANSWER: E.M. Forster
9.
A sequel about her baby will supposedly be published by the 35th anniversary edition of the book in which she originally appears. The twentieth most beautiful woman in the world, only the arrival of Coutness Rugen allows her to reveal her true feelings, which are impeded by being kidnapped by Vizzini. Who spurns the love of Florin’s Prince Humperdinck for the love of the farmhand Westley in The Princess Bride? 

ANSWER: Princess Buttercup
10.
He sculpted Erasmo di Narni astride a horse, creating the first equestrian monument in a millennium. He explored beheading with his Judith and Holofernes. His most famous statue is also of a beheading, and was the first freestanding nude in over a millennium. What early Renaissance artist sculpted a head of Goliath to go along with his laurel-hat wearing, bronze statue of David?

ANSWER: Donatello or Donato di Niccolo di Betto Bardi
11.
Bouvet Island and Peter I Island in the Southern Ocean are claimed by this nation. The Skagerrak Strait is along its southern border, and the Baerents Sea is off to the north. Svalbard and Jan Mayen are part of the kingdom and are island chains to the north and west. It has a small border with Russia in the far northeast. What country contains the cities of Tromso, Fredrikstad, Trondheim, Bergen, and the capital, Oslo? 

ANSWER: Norway
12.
The island of Murano near Venice is famous for manufacturing it.  It is strong under compression but brittle under tension.  Obsidian is a naturally occurring type of it.  A borosilicate type of it is known as Pyrex.  Name this substance that is naturally transparent and is usually made from sand.

ANSWER: glass
13.
Its first seven rows are: One, one one, one two one, one three three one, one four six four one, one five ten ten five one, and one six fifteen twenty fifteen six one. What numerical array used in combinatorics and binomial calculation is named after a Frenchman and a three-sided polygon?

ANSWER: Pascal’s triangle 
14.
Homer briefly mentions this king, whose name means ‘swollen feet.’ Cinaethon of Sparta was the first to incorporate the Sphinx in his myth. Later on, his sons Eteocles (eh-tee-oh-kleez) and Polynices (paw-lih-neye-seez) engage in civil war. According to Sophocles, he thought Polybus was his father, and Tiresias (tih-ray-see-us) told him that he was the source of a pestilence affecting Thebes. Laius and Jocasta were the parents of what king of Thebes who married his mother?
ANSWER: Oedipus (eh-dih-pus)
15.
Recently, this company's acquisitions have included online advertiser Doubleclick and photo editor Picasa.  Stanford University, where the company's two partners met, was granted the patent for their PageRank algorithm.  Founded in 1998 by Larry Page and Sergey Brin, this is what technology company who acquired video site YouTube in 2006 and whose name has become synonymous with web searches?

ANSWER: Google
Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
It is one of Maxwell’s four equations and in differential form is the divergence of the electric displacement field equals the free electric charge density.  In integral form, it states that electric flux equals enclosed charge divided by the permittivity of free space.  Name this electrostatic equivalent of Ampere’s law that is named after a German mathematician.

ANSWER: Gauss’s law

2.
Carl Weathers played this character in four movies. He helped his former rival discover an inner fire he called “The Eye of the Tiger.” He met his death at the hands of Ivan Drago during an exhibition gone wrong. This “Dancing Destroyer” and “Count of Monte Fisto” went 47-1 during his career, scoring 46 of his wins by way of knockout. 

What boxer does Rocky Balboa fight in the first two movies? 

ANSWER: Apollo Creed
3.
THIS IS A COMPUTATION QUESTION. The positive square root of 1400 is between what two integers, given that 1369 and 1444 are perfect squares?

ANSWER: 37 and 38
4.
After he died in 1994, a collection of stories, Flying Home, and a second novel, Juneteenth, have been published. His most famous character meets outcast Jim Trueblood and boiler room operator Lucius Brockway. Despite living in the brightest place in New York City, his unnamed Black man is apparently not seen or noticed by the White-dominated culture. Who is this author of Invisible Man?  

ANSWER: Ralph Ellison
5.
This country was a theocracy under Archbishop Vavil and his successors, and gets its name from an era when its territory was controlled by Venice. It remained more or less independent until 1916, when it was occupied by Austro-Hungarian forces, and then made part of a new country after World War I. On June 3, 2006, what nation regained independence, this time by separating itself from Serbia? 

ANSWER: Montenegro
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